+ ROD ASS'Y SHIFTS ( HEAE fIAR/FE ) P.189~P.190

ABR

SPECIAL PURPOSE VEHICLE

ROD ASS'Y

SHIFTS
CHEAE HLATEE )

m»

33602-23601-71
TOYOTA 5FD25

LOW & HIGH SHAFT
1Z 185m/m RS-01

==W

33603-23601-71
TOYOTA 5FD25
Forward. & Reverse SHAFT
1Z 260 m/m RS-02

——

TOYOTA 5FD25
171 m/m RS-02-1

 — o

33606-23660-71
LOW & HIGH SHAFT
TOYOTA 6FD25

205m/m RS-03

33603-23660-71
TOYOTA 6FD25
Forward. & Reverse
TOYOTA 6FD15
LOW & HIGH SHAFT

270 m/m RS-04

e

TOYOTA 6FD15
Forward. & Reverse SHAFT
205 m/m RS-04-1

e —

33603-23440-71
TOYOTA 7FD25

LOW & HIGH SHAFT
145m/m RS-05

33604-23440-71

TOYOTA 7FD25
Forward. & Reverse SHAFT
205m/m RS-05-1

=S

33505-33660-71
TOYOTA 6FD30

LOW & HIGH SHAFT
232m/m RS-06

m——.:gm

33506-33660-71

TOYOTA 6FD30

Forward. & Reverse SHAFT
289m/m RS-07

S I

33606-33600-71
TOYOTA 6FD30
LOW & HIGH SHAFT
220 m/m RS-08

91351-36500
MITSUBISHI (S4S)
119m/m(EE) RS-09

%

MITSUBISHI (S4S)

119m/mGEEH=)
RS-09-1

_-_—=-_

LAZI FD25
Forward. & Reverse SHAFT
210m/m RS-10

TOYOTA 7FD30
LOW & HIGH SHAFT
116m/m RS-11

TOYOTA 7FD30
Forward. & Reverse SHAFT

185m/m RS-12

m

22N57-42101
TCM FD25/30 C3

5 b AR
RS-13

TOYOTA 6FD25
HRAE ()
RS-14

TOYOTA 5/6FD30
PR
RS-15

189

WA A - e % - ABR



- ROD ASS'Y SHIFTS (HEREHIAR/E ) p.189~P.190

ABR

SPECIAL PURPOSE VEHICLE

ROD ASS'Y

SHIFTS
CHEAE HLATEE )

33503-23441-71
TOYOTA 7FD25
(FEAE LR A7)

(20004E8T)  RS-16

33503-23442-71

TOYOTA 7FD25
(PEFE AT A7)

(20004E1%) RS-17

L —_

TCM §z - 1%
177m/m

(FERE R E D) RS-18

33241-26600-71
TOYOTA 8FD25/30
1ST/2ND & F/R

(PEIEER# )  RS-19

214B3-93111
TCM FD25 D700/ a

(HERE [E E ) RS-20

e ]

TOYOTA 7FD25

M10*13*126m/m*1.25%5

(PEEEIE B =5k
RS-21

[~

TOYOTA 7FD25

M10*13*165m/m*1.25%F

(PEREREE ) =5k
RS-22

Sm/m

—_—

KOMATSU 118
10*370m/m

(A PR RS-23

Sm/m
8m/m

KOMATSU 168
10*315m/m

(5[ 1% 17) RS-24

Sm/m

S

TCM FD25 Z-1/Z-2
8*337m/m (FIE#HAR)
(OLD) RS-25

Sm/m

b

TCM FD25 (a)
8*290m/m (F[E#ER)
(NEW) RS-26

138m/m

L >

L ———

YANG FD25 (E#E)
M12*1.25m/m

(BEfEE E B)  RS-27

190

W HE P A - 42Ae s % - ABR



+ CONNECTING RODS (i1 4/5ERE BREE)  p.191

ABR

SPECIAL PURPOSE VEHICLE

CONNECTING
RODS

(Hra Bk )
(HEREERTE )

33506-23002-71 RH
33505-23002-71 LH
TOYOTA 5FD15/25

(A&Hih)

33506-23002-71 RH
33505-23002-71 LH
TOYOTA 5FD15/25

& 4

33506-23600-71 RH
33505-23600-71 LH
TOYOTA 6FD15/25

CONNECTING ROD

GEAR SHIFT CONNECTING ROD

M12#*1.25m/m (RH) END-27 GEAR SHIFT MITSUBISHI (S4S)

M12*1.25m/m(LH) END-27-1 |M10*10(RH) END-30 |#f& 2548 A M8*8(RH) M6*6 (RH)

£ IR FiL AR M10*10(LH) END-30-1 END-40 END-41

CONNECTING ROD CONNECTING ROD CONNECTING ROD

GEAR SHIFT GEAR SHIFT GEAR SHIFT

M12*12 (RH) END-18 M12*12 (RH) END-18A M10*12m/m (RH) END-19

M12*12 (LH) END-18-1 M12*12(LH) END-18-1A | M10*12m/m (LH)  END-19-1
&

M8*8 RH (§4)
END-40-1

M8*8 LH (J&)
END-40-2

191

AR A - #ZIe e % - ABR



- TIE ROD ENDS {(f&HIfZHEE) P.192~P.194

ABR

SPECIAL PURPOSE VEHICLE

TIE ROD

ENDS
(T LR AR )

43711-22000-71
214A4-32131

43711-32880-71

st [l

3EB-24-21250
KOMATSU FD25 118
SHINKO FD25

TOYOTA 5FD25 TIEROD |TOYOTA 5FD40 TIE-ROD NYK FD25
TCM FD25 Z-5 «a M22#350m/m M22#%325m/m*1.5%
M22%335 m/m RD-01 RD-02 RD-03
M24*2.O(ZEHZ) M24*2.0(H )
M24%*2.0
224W4-32501
TCM FD40
7-2/7-3/Z-7/SD25 MITSUBISHI FD25 (S4S) 23814-30022W
KOMATSU FD25 128 SHOVE LLER-§% 1 4 YANG/TAILIFT FD25 TCM FD40 Z-6
M22*315m/m M24*445m/m M20*315m/m M24%506m/m
RD-03-1 RD-04 | (UICIHF ) RD-05 RD-06
HoF B
= e | @ (@
Coe " HZMES50m/m
AMEA0m/m
TCM FD40 Z-6 TCM FD40 Z-6 TOYOTA 5FD25
M24*120m/m RH M24*140m/m 12%1.25%130m/m
RD-06-1 LT FiL AR RD-06-2 RD-07 RD-07-1

g ——

TOYTOA 6FD25
12*1.25*180m/m
RD-07-2

o E——

TOYTOA 6FD30
12*1.25*190m/m
RD-07-3

214A4-52051
TCM FD25 Z-3
M22*24* 210m/m
RD-08

AT,
wﬁb ; e SxMM

224W4-52001
TCM FD40 Z-7/T-8
M26*24* 98m/m

(L7 AR RD-09

25784-52251
TCM FD50/60/70/80 Z-7
M26*26*178m/m

RD-10

TOYOTA 3FD25
M20*310m/m

TCM FD25 3-F#!
M22*1.5%F*370m/m

M24*2.0(/ %) M24*2.0(4i 5F)

TCM FD25 3%

RD-11

RD-12

240m/m RD-13

192

WA A - e % - ABR



- TIE ROD ENDS ({=H/ A28 4E) P.192~P.194

ABR

SPECIAL PURPOSE VEHICLE

=2 N =T [ ———l— ]
TIE ROD @25m/m
ENDS 43711-10480-71
(FEHIAEHERE ) KOMATSU 88 NISSAN FDI5
MITSUBISHI FD25 YANG FDI5
YANG FD30 TOYOTA FDI5 NISSAN FBI15
M20*328m/m M20*280m/m M20*260m/m
RD-14 RD-15 RD-15-1
SHINKO FDI5 SHINKO FD25 YANG FD30/40 MITSUBISHI FD40 (S6S)
M20*300m/m M20*20*390m/m M20*20*370m/m M22*22*520m/m
RD-16 RD-17 RD-18 RD-19
91843-15600
MITSUBISHI FD40 NYK FDI15 E#)H
(S6E) M20*20*315m/m TCM FD25 Z-1 TOYOTA 5FD25
M22%22.2*440m/m W {w) M22*270m/m SR AR N R
RD-19-1 RD-20 RD-21 M12*320m/m RD-22
M22(%5F) M24(4i 5F)

21424-52001

TCM (SD25) & £ 1#%
M26*1.5m/m(45 HF)

TCM FD40 Z-7 (SD25)
M26*1.5m/m(/5 )

TCM FD25/30 Z-2 M24*210m/m(% ) M24*1.5m/m(/ o) TCM FD25/30 3F#!
M22#*24*L310m/m (40*L181m/m) (40*L181m/m) M24%2.0*L405m/m
(EfI1R) RD-23 RD-24 RD-24-1 RD-25

91443-25200

3EC-24-21410

3EC-24-21420

25784-32251
TCM FD50~FD70 Z-7/Z-8

MITSUBISHI (S4S) KOMATSU FD40 58 KOMATSU FD40 S
M20*300m/m M22%418*0D:28m/m M22#*371*0D:28m/m M24%24*1.720m/m
RD-26 RD-27 RD-27-1 RD-28
193 WA T A - RAese % - ABR



- TIE ROD ENDS ({=H/ A28 4E) P.192~P.194

ABR

SPECIAL PURPOSE VEHICLE

TIE ROD

ENDS
(T LR AR )

96m/m

L >

3EC-24-23420
KOMATSU FD40 5S
M22*24*L.96m/m

(RS RD-29

M22*1.5(/ ) M24%2.0(45 5F)

< 310m/m .

¢ >

25784-32251
TCM FD25 Z-1#H#
9 L1

M24*310m/m RD-30

oz

SHINKO 4/5FD25
M20*1.5%¥390m/m

(EGHSNT) RD-31

o 270m/m >

L

M24%2.0m/m #%(R)
el FRIS IR RD-35

M20*1.5*305m/m
RD-36

NYK FB9 NYK FB9 NYK FD25 TCM FD25/30 Z-2

M20*1.5m/m M22*1.5m/m M32%1.5%¥M22*%1.5%269m/m M22*21m/m fH (L)
RD-32 RD-32-1 RD-33 LR AR RD-34

e 155m/m >

TCM 3FD25 NISSAN FDI15

194

W HE P A - 42Ae s % - ABR



- TIE ROD ENDS (/5 [ #HIA7 ) p.19s

ABR

SPECIAL PURPOSE VEHICLE

TIE ROD

ENDS
(T TRBERLAR )

138m/m

185870
HYSTER FD40

PULLY ROD 182m/m
CHi BR &1 FiL %) HT-901

O==0

357294

HYSTER FD60/70
245m/m

CHUERSTAIAR)  HT-902

4325268
CLARK
HT-903

M22

3EB-34-24120

3EB-34-34170

M20*18

M20*20

YANG/TAILIFT FD30

KOMATSU 8S 2.5T

214A2-43071
514A2-40561
TCM FD25 T-6

KOMATSU FD25/30 118 KOMATSU FD25/30 12S YANG/TAILIFT FD25 M20*20m/m
END-KO1 END-K02 | M20*18m/m END-KO03 END-KO03-1
! M20
M24

214A2-43061
514A2-40581
TCM FD25 T-6

V7R

45665-23000-71
JOINT 5FD25/30

END-K04 RH END-26 LH END-26-1 END-238
3EB-24-52320 3EB-24-52310
45665-23600-71 KOMATSU 15/16S RH KOMATSU 15/16S LH 48520-10H04
JOINT 6FD25/30 M18*18.5m/m M18*18.5m/m NISSAN FD20
END-29 CHi BR &1 FiL %) END-36 | CHERELfiI#F)  END-36-1 END-38

=

NISSAN FD60/70
END-42

195

WA A - e % - ABR



» TIE ROD ENDS ($7f#2) P.196~P.197

SPECIAL PURPOSE VEHICLE

CONNECTING ROD
TIE ROD ENDS E ROD ENDS
(HI15 ) FOR ALL FORKLIFTS
TOYOTA NISSAN

45660-20541-71/45660-20540-71/3EB-24-21310
45670-20541-71/3EB-24-21410
43750-33860-71
43760-33860-71
43750-20540-71
43760-20540-71
43750-20541/20542-71
43760-20541/20542-71
45660-32880-71
45670-32880-71
43760-20542-71
43760-30871-71/30870-71
43760-23750-7130870-71
43750-23750-71/22750-71

48520-L6001
48521-L6001
48520-L6002
48520-L1100
48521-L1100
48520-00H04
48520-10H04
48520-00H03
48512-51K01
48512-51K00

MITSUBISHI

43360-22750-71 91243-15300/1 91243-07700

43350-22750-71

91243-25300

91243-15700/1

91243-25700

91243-35300
91243-15701
91243-35700

91243-21200
91243-11100
91243-11200
91255-10800/20800
91255-00800
91225-24600
91843-21100/11100/41100
91843-11100/2
91843-31200/11200/51200
91843-11201/91843-11202

AVAILABLE SUPPLY UPON YOUR SPEC.
REQUEST.

/91843-21200

196

W HE P A - 42Ae s % - ABR



» TIE ROD ENDS ($7f#2) P.196~P.197

SPECIAL PURPOSE VEHICLE

CONNECTING ROD
D
TIE l%g[?a ;‘N S TIE ROD ENDS
= FORALL FORKLIFTS
KOMATSU TCM
34C-27-11900 25784-30412
34C-27-11800 25784-30432
3EB-24-11200 23454-30801/2 23454-30701/2
34B-24-11700 22114-30402 TCM 1.5TE##/NYK 1.5T
25784-32261
304-41-31922/304-41-31921 23454-30701/30702
3EA-24-31310 22214-30402 25904-32211
3EA-24-31410 214A4-50301 25904-32201
358-27-11602 24354-30511 25904-32201
3EB-24-21310 25904-50211/25904-50221  514A2-40561
3EB-24-21410 25904-30401/25904-30421  514A2-40581
3EC-24-11600 (old type)/ (new type) 24234-30551/3EB-24-21310
3EC-24-11500 (old type)/ (new type) 24234-30561/3EB-24-21410
34C-27-11900 /34C-24-11700 224W4-30341 END-17
3ED-24-11221 224W4-30351 END-17-1
304-27-32200 25904-50211
34B-24-11503 25784-50401/25954
34B-24-11403 25784-50411A 26*27H 5 F
3EB-24-52310 LH 15/16S M18*18.5 23454-30801/30802
3EB-24-52320 RH 15/16S M18*18.5 25904-50211/50221 514A2-40561

25904-30401 RH M24*28 514A2-40581
25784-32261

22654-32311 RH END-34 TCM FD80 M30%*29.5
22654-32321 LH END-34-1 TCM FD80 M30%*29.5

SHINKO
25904-30421 LHM24*28
1401270003000 24234-30551/3EB-24-21310  514A2-40561
1401270003100 24234-30561/3EB-24-21410 514A2-40581
5241623-09 M17%16.5 RH END-45 25784-50401 26*27H 4 Y (£) JHEEGEL A
5241623-10 M17%16.5 LH END-45-1 25784-50411 26*27H /5 H(56) JHEEELH
YALE

1401270007200 RH M20*15 END-11
1401270007300 LH M20*15 END-11-1

AVAILABLE SUPPLY UPON YOUR SPEC.
REQUEST.

197 W HE P A - 42Ae s % - ABR



- POWER STEERING CYLINDER ASS'Y (&) /J#[445K) P.198~P.199

ABR

SPECIAL PURPOSE VEHICLE

POWER
STEERING
CYLINDER

ASS'Y
S UPALIR DY)

et

AP

45610-23000/23600-71
TOYOTA S5FD25
PW-001

TOYOTA 6FD25
PW-001-1

3EB-64-21500
KOMATSU FD25 118
PW-002

M22*18 2 F

3EB-64-31110
(NP23352-01827)
KOMATSU FD25 128

=

45610-33660-71
TOYOTA 5/6FD30

— ale—in

229F4-50201
214A4-50201
TCM FD25/30 D700/«

'8 B PW-002A PW-003 PW-004 PW-005
END-10

229F4-50201
TCM FD25/30 D700/ a
((REVAED)] PW-005-1

YANG FD25
PAES0m/m  (eh 7 FL75 7 1)
PW-006

YANG FD30
PIEESSm/m (L L JH %)
PW-007

TAILIFT FD25
R&50m/m (Ji JH )
PW-008

|

TAILIFT FD30
PEESSm/m (1)
PW-009

e —

KOMATSU FD25 8S
PW-010

e

YANG FD40
TOYOTA 5FD40
PW-011

TCM FD40 Z-6~Z-8/T-9
25*470m/m
PW-012

—E—a

91255-31100
MITSUBISHI (S4S)
22#440m/m

PW-013

MITSUBISHI (S4S)
25*%470m/m
PW-014

P

TCM FD25 Z-2
22*400m/m
PW-015

o ——

TOYOTA 3FD25
22*395m/m
PW-016

198

W HE P A - 42Ae s % - ABR



- POWER STEERING CYLINDER ASS'Y (EJJH144H) P.198~P.199
P.199

- U-BOLT/SUPPORT (UZI$4)

ABR

SPECIAL PURPOSE VEHICLE

POWER
STEERING ﬁ—
CYLINDER
ASS'Y
(B AT )
NISSAN FD25 (TD27) TCM FD30 Z2S
PW-017 PW-018
U-BOLT/
SUPPORT
(URIS)
234A8-42551 228C8-42701
215E8-42181 224T8-42711
TCM FD25/30 TCM FD40
UB-001 UB-002

199

W HE P A - 42Ae s % - ABR



« KITS FOR POWER RODS ASS'Y (&) JJ& EkTE{EE A1)
- REPAIR KITS FOR HYDRAULIC PUMP (RSB S5 A1)

- PUMP CONNECTOR (BRI #7208 )

. ABR

SPECIAL PURPOSE VEHICLE

KITS FOR
POWER
RODS

ASS'Y
(B HEIPRIAEEE )

ﬁ I32m/m
——>i

81m/m

3EB-64-11520K
KOMATSU FD25 8S/118
CH-023

Doo
000

3EB-64-11530
3EB-64-11550

KOMATSU FD25 8S/11S
KITS CH-023K

REPAIR
KITS FOR
HYDRAULIC

PUMP
CHBRFAREREE)

{29555
(Jo U

17*30m/m

04671-20770-71(E 5%)

04671-10712-71(4 35)

KF24-25-157A

TOYOTA 5FD15/25
O/H-001K

PUMP

CONNECTOR
COHTBR SR 2 )

FBI15
20*20m/m
PM-01

200

W HE P A - 42Ae s % - ABR



- POWER RODS (&) 405D

P.201~P.202

SPECIAL PURPOSE VEHICLE

P()WER e e e
e
CESIELTE)
45621-23600-71 3EB-64-11620
TOYOTA 5/6FD15/25 KOMATSU FD25 118
22*%402m/m 25*%420m/m PISTON 16m/m
PW-401 JEZEFL16m/m PW-402 PW-402P
Fe———— S e
KOMATSU 8S/10S/11S NP-23352-01560
25%420m/m KOMATSU FD25 128 KOMATSU 128
JEZEFL18m/m 25*%445m/m 25%445m/m PISTON 18m/m
PW-402-1 JEHZEFL16m/m PW-403 | %327 18m/m PW-403-1 PW-403-1P
T’ﬁ-f e e e e ————
M20 Ml6
25595-52271
TCM FD25 Z1/Z2/728S TCM FD25 Z2
22%422m/m 22*400m/m TCM FD25 Z-1 TCM FD25 3-F
M20*M16*1.55 M20*1.5m/m 25%415m/m 22*368m/m
PW-404 PW-404-1 PW-404-2 PW-404-3
e | g e—————me | ey, | G

214A4-52041
214A4-53041

45621-33660-71
45621-33860-71

91255-03900
MITSUBISHI FD15/25

TCM FD25 Z-3/Z-5/700S TOYOTA 5/6FD30 MITSUBISHI FD25 (S4E) (S4S)
25%425m/m 25*%406m/m 22*430m/m 22*440 m/m
PW-405 PW-406 PW-407 PW-408
25954-52021 TOYOTA 3/4FD25
TCM FD40 Z-6 TCM FD40 Z-7 45621-32880-71 22*395m/m
25%502 m/m 25*%470 m/m TOYOTA 5/6FD40 M20*M16*1.5%F
PW-409 PW-410 25*450 m/m PW-411 PW-412

201

W HE P A - 42Ae s % - ABR



- POWER RODS (&) 405D

P.201~P.202

ABR

SPECIAL PURPOSE VEHICLE

POWER

RODS
(BN L)

16m/m

mf

18m/m

EEL

91854-15900

NYK FD25 55S/60S
25*358m/m
(FfF 122 1)

PW-421

YANG/TAILIFT FD25 YANG FD25 MITSUBISHI FD40
22*390m/m 22*412m/m (S6E/S6S)
M20*M16*1.55F M20*M18*1.55F 25*471m/m
PW-412-1 PW-412-2 PW-413
M26*1.572 5 M20*1.547 °F
25784-5221
MITSUBISHI FD40
(S6E/S6S) TCM FD60/70/80 Z-7 NISSAN FD25 YALE FD25
25*%450m/m EH 30*532m/m 22*%412m/m 25*393m/m
PW-413-1 PW-414 PW-415 PW-416
= . L
3EC-64-11120 YALE FD15
KOMATSU FD40 4S/5S KOMATSU FD25 7S 22*381m/m TOYOTA 3/4FD40
7 1% 25*410m/m M20*1.55 22%513m/m
25*507m/m PW-417 PW-418 PW-419 PW-420
EE=S e o

202

WA A - e % - ABR



« TILT RODS {EEHEL - T8 ) P.203~P.207

ABR

SPECIAL PURPOSE VEHICLE

TILT

RODS
CHEAHLED)

M24*2.0

e,

T —

M22*1.5

ﬁ

—

214A8-50301

e
() 65545-23000-71 65521-23603-71 37B-1JD-2011
TOYOTA 5FD15/25 TOYOTA 6FD15/25 KOMATSU FD25 8S/11S
30*375 m/m 30*390 m/m 30*355 m/m
PW-601 PW-602 PW-603
M24*1.5 29m/m
— 18m/m
mu=====L = | g GEEEEE#E
37B-1JD-3010 234A8-52051 22N58-52801 23678-50211
KOMATSU FD25 128 TCM FD25/30 Z-5 700S TCM FD25 T3/C3 TCM FD25 Z-2
30*342 m/m 30*380 m/m 30*380 m/m 32*370m/m
PW-604 PW-605 PW-605-1 | JEZE70m/m PW-606
e 426m/m N 460.5m/m

w

TCM FD25 TCM FD25 Z-3 a 65503-32880-71 TOYOTA 5FD40 PU: #f#5
32*%440m/m 32%390 m/m TOYOTA 5FD40 42 | 40%400/460.5m/m
(MUK HE ) PW-606-1 | 3E3£70.5m/m PW-607 | 40*365m/m PW-608 PW-608-1
M30%2.0 M24%1.5 | M30*2.0 M24%1.5 | 1 5/32 M24%1.5
» 415m/m .
@w , ] !
Lm—— )] = -
62.5m/m 63.5m/m
TOYOTA 4FD40 YANG/TAILIFT FD25 YANG 2.5T YANG / TAILIFT 2FD25
40*354/415m/m 30*385m/m 30%440m/m (4% #4%) 30*385m/m G )
PW-608-2 | M30%*2.0 PW-609 PW-609-1 PW-609-2
M30%*1.5 M24*1.5 | M30%2.0 M24*2.0| M22*1.5
£ﬂ======$ £ﬂ======$LE!EEEE;.!!EEEEEI%
—
65m/m
65545-20540-71 YANG FD25
YANG / TAILIFT 2FD25 TOYOTA 3FD25/4FD25 TAILIFT FD25 9L-3f & 30%425m/m (43 H42)
30*385m/m (4 =) 30*396m/m 30*368m/m GEEAM B8N
PW-609-3 PW-609-4 | (33 #:42) PW-609-5 PW-609-6

203

WA A - e % - ABR



« TILT RODS {EEHEL - T8 ) P.203~P.207

SPECIAL PURPOSE VEHICLE

M22*1.5 M27%*1.5

M30*1.5

TILT 'L M27*%2.0) M30*1.5 M27%2.0
— L |
RODS ol e~
N m/m
(R
(fHFE) 94104-05200 94204-04200
MITSUBISHI FD15 MITSUBISHI FD25 (S48S) MITSUBISHI FD30 (S4S)
30*365m/m 35*356m/m 35%389m/m  (fEAEFR)
PW-610 PW-611 PW-612
M30%1.5 M27%1 5| M27%1.5 M30%1.0 M42%3.0 M33*3.0

MITSUBISHI FD30 (S4S)

MITSUBISHI FD30 (S4S)

3EB-64-44160
3EB-64-44460
KOMATSU FD25 158

37C-1AW-1510
KOMATSU FD40 4S/58

35%404m/m (4K D) 35%385m/m  (FZ 4% 30%312m/m 45%420mm
41 oF PW-612-1 | 564 PW-612-2 PW-613 PW-614
383.5m/m .y 372m/m » 370m/m N

@

TOYOTA 7FD25/30 (%)

ﬁ

TOYOTA 6FB15/7FD25 (fifs)

TOYOTA 7FB30/7FD25

KOMATSU FD40(OLD) T2 HE R (PFM24) ERAEFR(SFM22) (BB &) #H)(FM24)
45%435mm 30%320/383.5m/m 30*308/372m/m 30%308/370m/m
PW-615 PW-616 PW-616-1 PW-617
384m/m e 420m/m N 409.5m/m

¢ »l
€ »

)

TOYOTA 7FD30/7FB15~30

" 4

TOYOTA 7FB15~30

=

224T8-50301
TCM FD40 Z-7/Z-8

65503-30510-71

(FM22) (& Bl #) (FM22*1.5) (BB ) (FM42) TOYOTA 7FD40/50

30*320/384m/m 30*355/420m/m 45*%474m/m 40%350/409.5m/m
PW-618 | (4.5K M) PW-618-1 L 3287m/m PW-619 PW-620

u 500m/m N

==} T | SRS | e——

TOYOTA 7FD45 fifi T
40*440/500m/m

KOMATSU FD25 7S
(%33m/m)
35*375m/m

PW-620-1

KOMATSU FD30 7S
(F35m/m)
35%360m/m

PW-621

PW-622

KOMATSU FD20 7S
(H35m/m)
35*%359m/m

PW-623

204

AR A - #ZIe e % - ABR



« TILT RODS {EEHEL - T8 ) P.203~P.207

ABR

SPECIAL PURPOSE VEHICLE

TILT

RODS
CHEAHLED)

M24%2.075 o

M30*2.045 &

M30*2.0

M24*1.5

e
QEENNY)
TCM FBI15 Z-6 SHINKO FDI15 (ZEH)) TCM FBI15 Z-7
30%337m/m 30%360m/m 30*320m/m
PW-624 PW-625 PW-626
54m/m M48*2.04 73m/m
30m/m M48*2 0 | H M48*2.0% —
[ I——=
—i
60m/m

TCM FD25 C3

TCM FD60/70/80 Z-7

25788-50501
TCM FD60/70/80 Z-7

TCM FD60~FD80 Z-7

30%330m/m 50%502m/m  (FE) 50%*506m/m  (£5) 50%532m/m (4K 4
PW-627 | 5E22113m/m PW-628 |:E3E113m/m PW-628-1 | EZ113m/m PW-628-2
M45*2.0% | M28*2.0 M24%1.5
e A

‘ésﬁﬁﬁﬁsi

NISSAN FD25 J02/TD27

TOYOTA 5FD30

KOMATSU FDI5 ({f F&%)

TCM FD60~FD80 Z-6 30*360m/m 30%*425m/m  (PUSRAEAD) | 25%324m/m
50*502m/m  PW-628-3 PW-629 PW-630 PW-631
M45%2 0 M38*1.55 M30*2.0 i= I
. OD:80m/m
94404-04300
MITSUBISHI FD40 TCM FD25 (Z-17i )
TCM FD40 Z-6 (S6S/S6E) 3/5% LAZI FD25
50*473m/m 40*428m/m 32#440m/m 35%372.5m/m
& 72 100m/m PW-632 PW-633 PW-634 PW-635
M30%2.0 M22%1 5 M27*1.5m/m  M32%2.0m/m| NS 2 0m/m I
OD:113m/mj

AIJUIMENT FD25
TAILIFT FD30
30*369m/m

PW-636

22N58-52801
TCM FD30 C3/T3
35*%320m/m

PW-637

3EB-64-44660
3EB-64-44260
KOMATSU FD30 15S
35*%312m/m

((REESSI) PW-638

TCM FD60~FD100 Z-8
50*532m/m
PW-639

205

WA A - e % - ABR



« TILT RODS (fERMLS-HEFT)  P.203~P.207

ABR

SPECIAL PURPOSE VEHICLE

KOMATSU FD70~FD80

M30%3.5 M27%1.5
_— I
CIBAHELR)
(fHFE) TCM FDI5 Z-5
YALE FD25 HYSTER FD25 FB15 Z-7
35%348m/m 31.75%278m/m 30*368m/m
PW-640 PW-641 PW-642
M30%1.54 o
v

TOYOTA 5/6/7FBR FD15

M33%3.0

TOYOTA 8FD25

TOYOTA 8FD25

50%437m/m MITSUBISHI FD25 (S4E) | 37 s\ E &) 5 TCM FD40 T-9 ff F%
(M33F*M487F) 35%346m/m 25%118m/m 45%470m/m
PW-643 PW-644 PW-645 PW-646

65523-26600-71
TOYOTA 8FD25

TOYOTA 8FD25

30*340m/m 30*380m/m 30*397m/m 30%362m/m
PW-647 | (4KHit%) PW-647-1 (4K AR PW-647-2 | (4KHitd) PW-647-3
M22#%1.545 F M27*1.5 M30%1.5
‘=========W==========ié;ﬂiiiiiﬁéi
21m/m
TOYOTA 7FB35/7FD30 NYK FDI15 MITSUBISHI GRENDIA
BENEH (4K M) BEEhE KOMATSU FDI15 8S FD30
30*400m/m PW-648 | 25*324m/m PW-649 | 30*356m/m PW-650 | 35*390m/m PW-651
e R — Wbl
TCM FD25 C6/T6 TCM FD100/120/135 TAILIFT FD25
30%388m/m TOYOTA 8FD30 35*489/567m/m IR E
PW-652 | 30%425m/m PW-653 PW-654 | 40*430m/m PW-655

206

W HE P A - 42Ae s % - ABR



« TILT RODS (fERMLS-HEFT)  P.203~P.207

ABR

SPECIAL PURPOSE VEHICLE

TILT

RODS

CERLELE)
(fHFE)

NYK FD25 55S
35*345m/m

ORI} 5 2E) PW-656

SHINKO 6FB15
N LI

35*362m/m PW-657

MITSUBISHI FDI15
25*335m/m
PW-658

_

TOYOTA 8FD30 TCM FB25 6S TCM FB25
35%385m/m 30*350m/m KOMATSU FD/G15~20 30*366m/m

(4R AR PW-659 | (BEjEHEFLF) PW-660 | 30*337m/m PW-661 (BEIHEHT ) PW-662
—— P> =

KOMATSU FD30 (OLD)
40*406m/m PW-663

TOYOTA 7FBR25
(r BB FE)
30*126m/m PW-664

TOYOTA 6FD30/40
40*500m/m (EE4T)
PW-665

YALE FD25 (20101%)
30*382m/m
PW-666

—E%

TOYOTA 5SDKS8 (45 + 1)
30*704m/m
PW-667

207

W HE P A - 42Ae s % - ABR



« TILT RODS KIT ({E}EL - {h

EEEE ) p208

ABR

SPECIAL PURPOSE VEHICLE

TILT
RODS

KIT

(ERHELT )
(T EEa)

009

X

PW-601/PW602K

OO0
270,
©0°

PW-603K

0.0@
/\ ~ O

OOO

PW-604K

Q0O
(OO0

oLl

@le/e

OO0

PW-609K PW-610K PW-611K PW-613K
O000 D
PW-616K PW-619K PW-637K PW-639K
00«
O O N/
PW-647K
208 RHEFFA - R % - ABR




* LIFT CYLINDER REPAIR KIT (F-[#HERG-EBHEA) p209-P.210

A

SPECIAL PURPOSE VEHICLE

LIFT
CYLINDER
REPAIR

KIT
(FHhe L EL )

O00O
OO0
O O

04654-10252-71
TOYOTA 6/7FB/FD10~18

elele
o

04654-10262-71
TOYOTA 6/7FB/FD10~18

O

O
O

O O

04654-20020-71
TOYOTA 6/7FD25

QO

coo | 00 _|000 [000
00 |000

OO0
O O

04654-20031-71
TOYOTA 6/7FD25

000
()oo

04654-30220-71
TOYOTA 6/7FD30

04654-30210-71
TOYOTA 6/7FD30

O

04651-31181-71
TOYOTA 5FD40 (RH/LH)
TOYOTA 6/7FD40 (RH)

(LH) LF-004K | (RH) LF-005K | (LH) LF-006K LF-007K
. CYO) O
O O UL
04651-31282-71 B-3045A-00020 B-3050A-00093 B-3055A-00058
TOYOTA 6/7FD40 TCM FBI15 TCM FB20~25 TCM FB30
(LH) LF-008K LF-009K LF-010K LF-011K
234A8-49801 234F8-49801 230L8-49801 25908-49801
TCM FB20/25 TCM FB30 TCM FD50~FD70 TCM FD100
LF-012K LF-013K LF-014K LF-015K
\ﬂ { )
k& Y 4
3EB-64-05070 LD0009608011 30B-63-05040 30B-63-05050
KOMATSU FD20 118 KOMATSU FD20/30 4S KOMATSU FD20 16S KOMATSU FD30 16S
LF-016K LF-017K LF-018K LF-019K

209

W HE P A - 42Ae s % - ABR



* LIFT CYLINDER REPAIR KIT (F[#HEEF-EEA) p209~P.210 A B R
- —

SPECIAL PURPOSE VEHICLE

LIFT
CYLINDER
REPAIR

KIT
(FHhe L EL )

210 W HE P A - 42Ae s % - ABR



	1: 189
	2: 190
	3: 191
	4: 192
	5: 193
	6: 194
	7: 195
	8: 196
	9: 197
	10: 198
	11: 199
	12: 200
	13: 201
	14: 202
	15: 203
	16: 204
	17: 205
	18: 206
	19: 207
	20: 208
	21: 209
	22: 210

